EARAROBEEIERT — 2 N— IBISH —F

2019547208 (+) 1ERE5H

NN Y o REEARLE AT

(ER) AE

[xwlw | lmEmml - ) s a

[A~&£] 1 7 13,500,000 § ~ 2 & :5,400,000 B

3 & 13,400,000 B

4 7% 12,000,000 53 1,350,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R #—5 142, —-2-1- . — ERF— (ER)
1 : RIS R e 132 1 f560) EEY 5T
L:O—-J X124 B:NILEY IROZH BE E=
o LR et :43. -3-2- . — FEBE (EXR)
5 NPAS S E T EY A H 6 LS 3(433)4 4-3-2-2 | 13.2 6 :?g) TEE
L:vA7% B:bFT—T J—HrTr—LA
S, h 5 4 6 | HEFHED 3:44.5 10-10-10-9 [ 13.3 | — 1" 524 | BRERFIZ (FEH)
3lgl13|®@>YTNrsOHTx 61.0 @ (g | FEE
= NFRYTF— B XZ—T+—1— & ERAR
S i t> 5 | FRfEA 3:44.7 11-8-8-4 [13.3| — 9 490 | EAET (RR)
4111 | *T>3 7T - 60.0 (1 1/4) (-q) | BART
R:TF9I8%S—F BRI MFAR I AR
o 4 5 | EEFAR 3:44.8 13-11-11-9 | 13.3 | — 5 480 | LHEE& (XH)
5/5/7| h-3-E—-2X 61.0 (1/2) e | HIeE
L:ARTAMTRI BRI T757— FREHRS
S - 7 | LEA 3:44.9 8-7-7-7 |13.3| — 10 | 496 |HaEER ()
6|5|8| 7/ T= 60.0 (172 o) | TEEE
VSPAE: (im I = 302, b | Ay s iR ht  HERR
Soa N INEFEERK : —13-12- — EEE—B (EH)
7 10/®>>FRVZILY 6 5.0 3(7451:? 18181212 13.3 1 ‘2;2 ot
LR UTYIIX B XA — FTANRY Wk el
. O s # 6 | REREX 3:45.4 7-4-5-5 [13.3| — 2 518 | MIALE (RR)
sl o| 7AYRY T 61.0 2 1/2) (-2 |FEXR
R:TI9 84K BixAFv—HAK paiutie]
S pe “ AMR— 145, -1-3- . — AiESHE (EXR)
o nlvEnyyesE B4 ouR 3(14/52>5 1-1-3-3 | 13.3 3 422;1 Eale B
LTI ELR BiHLF-Zb—U— 2 42T T 4 — I K
s S # o6 | EAERS 3:46.2 9-8-8-8 |13.4| — 12 | 498 |BERAl (=)
100N 4 | YT NVAX X 600 @ o) | TEEE
L2 14x2 0 ML BioA I R—b 2N ESS
LY T — L 6 | BEME 3:46.3 4-5-4-5 | 13.4| — 8 470 | EFER (ER)
N > BCE2IE e “ %1600 ) G | Ao
L p—3UTL B:YaTIU-U14-—> azkes
. S o EHAEN : -11-13- — eiEER (EH)
" RS P, i 8 o 3.(447).0 12-11-13-12| 13.4 7 (4_586) iy
R:8=/FLLy b BNF/AT—Ta AR
— s LR S o6 | ERAH 3:48.2 6-5-6-11 | 13.5| — 14 | 518 |EAIEF (ER)
13814 =~ ERR—T— 60.0 0] Loy |tEARS
x4 anR-5— B -k EOQ07=H B A
N "6 | EFXF — 3 — — 4 462 | EFEE (ER)
s 712|217 — 62.0 (k) Lo |EEAEE
L:Tv TRy v By by hRJ — FEX %Y K
@ 21 L
£y 52.0-39.2
ngraAq L
® I—F—@EBIERL
15=2r= 11-3=12-(2,6)-14,9,8-4,13,1,5-(10,7)
23—+ — 11,3=6-9(2,14)8=(4,1)13-(5,7)-10 12
== 3-6-11,2,9,14,8-(4,1)-13,7-10,5 12
AISI=F = 3=6-11-1(2,9)8,4(13,7)14-(5,10) 12
[ RN
B Op 3 190M 794K 3-6 700 & 3-4 1,060M &R 3-6-13 30,330
# B 3 140/ 3-13 2,880M B E 3-6 1,770M EE 3-6-13 69,250/
6 310M 6-13 7,320H B H 3-6 2,440H
13 980H

ABICOVWTRDTEEERROODE. TR LIV,




